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QUESTION 1

Click the Exhibit button. 

-- Exhibit -user@router> restart 

^ 

unknown command. 

-- Exhibit -You are troubleshooting a routing issue on a device running Junos. You receive the error shown in the exhibit
when you attempt to restart the routing process. 

Which statement describes the problem? 

A. The routing process can only be restarted from configuration mode. 

B. You do not have permission to restart the routing process. 

C. The routing process must be restarted from the shell. 

D. You have typed an invalid command. 

Correct Answer: B 

 

QUESTION 2

Which IP protocol number is assigned to TCP? 

A. 4 

B. 6 

C. 18 

D. 17 

Correct Answer: B 

 

QUESTION 3

Click the Exhibit button A packet destined to the 172.27. 102.65 IP address is received by the ge-0/0/1.0 interface on
your Junos device. The input firewall filter shown in the exhibit is applied to the ge- 0/0/1.0 interface. Which two actions
are performed in this scenario? (Choose two.) 
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A. The packet is logged 

B. The packet is accepted 

C. The packet is counted 

D. The packet is discarded. 

Correct Answer: BC 

 

QUESTION 4

Which two statements describe IPv4 default behavior for BGP? Choose Two 

A. All Active BGP routes are exported to configured EBGP neighbors 

B. All BGP routes are exported to configured EBGP neighbors 

C. All BGP routes are imported into the inet.0 routing table 

D. All BGP routes are imported into the inet4.0 routing table 

Correct Answer: AC 
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QUESTION 5

Which two protocols use UDP to facilitate speed? (Choose two.) 

A. OFTP 

B. TFTP 

C. SCP 

D. SNMP 

Correct Answer: BD 
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